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Correct Answer: D

QUESTION 1583
FDDI uses what type of network topology?

A. MESH
B. RING
C. STAR
D. BUS

Correct Answer: B

QUESTION 1584
Which network attack below would NOT be considered a Denial of Service attack?

A. Ping of Death
B. SMURF

C. TCPSYN

D.

Brute Force

Correct Answer: D

QUESTION 1585
There are some correlations between relational data base terminology and object-oriented
database terminology. Which of the following relational model terms, respectively, correspond to

the object model terms of class, attribute and instance object?

Relation, column, and tuple.
Relation, domain, and column.
Domain, relation, and column.

oo w >

Relation, tuple, and column.

Correct Answer: A

QUESTION 1586
Which IEEE protocol defines the Spanning Tree protocol?

A. IEEE 802.1D
B. IEEE802.11
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C. |IEEE 802.5
D. IEEE 802.3

Correct Answer: A
QUESTION 1587
What does the Data Encapsulation in the OSI model do?

Provides best effort delivery of a data packet.
Creates seven distinct layers.

Wraps data from one layer around a data packet from an adjoining layer.

oo w >

Makes the network transmission deterministic.

Correct Answer: C

QUESTION 1588

Object-Oriented Database (OODB) systems:

Are useful in storing and manipulating complex data, such as images and graphics.

Consume minimal system resources.
Are ideally suited for text-only information.

oo w >

Require minimal learning time for programmers.

Correct Answer: A

QUESTION 1589
The goals of integrity do NOT include:

Accountability of responsible individuals.

B. Prevention of the unauthorized or unintentional modification of information by authorized
users.

C. Preservation of internal and external consistency.

D. Prevention of the modification of information by unauthorized users.

Correct Answer: A

QUESTION 1590
Which choice below most accurately reflects the goals of risk mitigation?

A. Analyzing the effects of a business disruption and preparing the company's response.
B. Analyzing and removing all vulnerabilities and threats to security within the organization.
C. Defining the acceptable level of risk the organization can tolerate, and reducing risk to that
CISSP Exam Dumps __ CISSP PDF Dumps __ CISSP VCE Dumps __ CISSP Q&As
https://www.ensurepass.com/CISSP.html



http://www.ensurepass.com/CISSP.html
http://www.ensurepass.com/CISSP.html
http://www.ensurepass.com/CISSP.html

Download Full Version CISSP Exam Dumps(Updated in Feb/2023)

level.
D. Defining the acceptable level of risk the organization can tolerate, and assigning any costs
associated with loss or disruption to a third party, such as an insurance carrier.

Correct Answer: C

QUESTION 1591
In SQL, a relation that is actually existent in the database is called a(n):

A. Base relation
B. Domain

C. View

D. Attribute

Correct Answer: A

QUESTION 1592
Which choice is NOT a good criterion for selecting a safeguard?

The ability to recover from a reset without damaging the asset.
Accountability features for tracking and identifying operators.
The ability to recover from a reset with the permissions set to allow all.

oo w >

Comparing the potential dollar loss of an asset to the cost of a safeguard.

Correct Answer: C

QUESTION 1593
Which UTP cable category is rated for 16 Mbps?

A. Category 6
B. Category5
C. Category7
D. Category4

Correct Answer: D

QUESTION 1594
A protection mechanism to limit inferencing of information in statistical database queries is:

A. Specifying a maximum query set size.
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B. Specifying a minimum query set size, but prohibiting the querying of all but one of the records
in the database.

C. Specifying a minimum query set size.

D. Specifying a maximum query set size, but prohibiting the querying of all but one of the records
in the database.

Correct Answer: B

QUESTION 1595
Which choice below MOST accurately describes the organization's responsibilities during an
unfriendly termination?

The employee should be given time to remove whatever files he needs from the network.
Cryptographic keys can remain the employee's property.
System access should be removed as quickly as possible after termination.

oo w >

Physical removal from the offices would never be necessary.

Correct Answer: C

QUESTION 1596

Which choice below is an accurate statement about standards?

Standards are senior management's directives to create a computer security program.

@

Standards are used to describe how policies will be implemented within an organization.
Standards are the high-level statements made by senior management in support of
information systems security.

D. Standards are the first element created in an effective security policy program.

Correct Answer: B

QUESTION 1597

Which choice below is NOT a common result of a risk analysis?

Valuations of critical assets.

Definition of business recovery roles.
Likelihood of a potential threat.

oo w >

A detailed listing of relevant threats.

Correct Answer: B
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QUESTION 1598
Which of the following is NOT a criterion for access control?

Role
Identity
Keystroke monitoring

oo w >

Transactions

Correct Answer: C

QUESTION 1599

Which question below is NOT accurate regarding the process of risk assessment?

Risk assessment is the final result of the risk management methodology.

The likelihood of a threat must be determined as an element of the risk assessment.

Risk assessment is the first process in the risk management methodology

oo w >

The level of impact of a threat must be determined as an element of the risk assessment.

Correct Answer: A

QUESTION 1600

Which LAN transmission method below describes a packet sent from a single source to multiple

specific destinations?

A. Multicast
B. Unicast
C. Anycast
D. Broadcast

Correct Answer: A

QUESTION 1601
Which choice below is NOT considered an information classification role?

A. Data custodian
B. Data alerter

C. Datauser

D. Data owner

Correct Answer: B
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